BC Calculus – FDW 3rd Edition – Section 8.4 Even Answers

Quick Review 8.4
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Section 8.4
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26.(a) infinite discontinuity at x = 1  (b) 
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28.(a) infinite discontinuity at x = 0  (b) 
[image: image14.wmf]2

22

e

-

-


30.(a) infinite discontinuity at x = 0  (b) 6 
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46.(a) divergent since 
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  (b) Both improper integrals must converge for the integral from 
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 to converge.  (c) For odd functions the integral from –b to b always equals zero.  (d) Note the difference between: 
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48. False. We need 
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(f) converges for p > 1, diverges otherwise

56.(a) Increasing: 
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 (b) .683, .954, .997

(c) For b >1, we can make the integral as close to 1 as we wish choosing larger and larger b-values. To make the one-sided integrals approach 0, we make b large enough.

58. For any b > a, we have 
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. If the integral with g(x) converges, this value is an upper bound for the integral of f(x) and therefore that integral converges also. 

If the integral of f(x) increases without bound, then so does the integral of g(x). 

60.(a) 1.57  (b) yes

BC Calculus – Section 8.4 Even Answers (continued)

Quick Quiz – Sections 8.3 – 8.4
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  (c) Integrate: 
[image: image39.wmf]2

2ln

x

x

dx

ò

 ‘by parts’ letting 


[image: image40.wmf]2ln

ux

=

 and 
[image: image41.wmf]2

1

x

dvdx

=

, then 
[image: image42.wmf]2

2ln

x

x

dx

ò

=
[image: image43.wmf]udvuvvdu

=-

òò

 = 
[image: image44.wmf]2ln

x

x

-



 EMBED Equation.DSMT4  [image: image45.wmf]2

2

x

dx

--

ò



[image: image46.wmf]2

x

dudx

=

 and 
[image: image47.wmf]2

1

x

vxdx

-

==-

ò






  = 
[image: image48.wmf]2ln

2

x

xx

C

--+


Hence, area = 
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Chapter 8 – Review Exercises

2. -3, -6, -12, -24 & 
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  8. diverges   10. 3/5   12. 1/e   14. e3   16. -1   18. 1   20. 
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24. Same rate since 
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   28. Same: 
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30. Slower since 
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36.(a) 
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  (b) So let f(0) = 0 to have endpoint continuity
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52.(a) 13  (b) -1.5  (c) an = -1.5n + 14.5   
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58. See #56 for integration by parts: 
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